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from janome.tokenizer import Tokenizer
t = Tokenizer()

text = "HERBOANEEIIZ D126 E DI, ”

tokens = t.tokenize( text )
for token in tokens:

print( token ) ‘ 2617




JOUZL2)RERDIIRBEEZTHA D
JOJ3o L
word list = {}
for token in tokens:
word = token.base_form
IT word in word_list:
word_list[word] +=1

else:
word_listlword] =1 OS5 L DEE 447
print(word list) + 817
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from wordcloud import WordCloud

wordcloud = WordCloud(background _color="white’,
width=1024 , height=674,
prefer horizontal=0.8,
font path="ipagp.ttf’, colormap = 'prism’
).generate(’,’.join(word_list) )

JOJSL2FETNDT 21T
wordcloud.to file("'wordcloud.png’) + 717
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import geocoder

location = geocoder.osm (&1

R B REEFFR)

print(location)

print(location.latlng)

| 2447




REDERF

s S5 T[4 2
FEHRE

—Bi%E (T ERMEER TCESLOHATS

JOJSL%ZmU. EFS B CHEEESESD
TJIV—T%FE EFRBEEZEEZ T BEDOER -BREITD
FORICTOOJ S LZRUT,
- fESXODFEE -REZTHNSET S
FORERZ AORENRINICHRETHIKICE
MREDFER -FRZITD

)|

13T




FREDIEKUIZR SR

R EDIE
IR
OEFHFTAMDBEZR T, g & (CENHD

@ZiE T, FBR(CIT<FEBDES(TENWN DD
HiY

@ERZ I DDICEOIRIEDE LT, FEBZBE L
@APFEEDLZVHETES LIL)

JIBTOFELDOAD

Balt 5~9Fn A0
(20201210~14%%)

= BOAME




BHBEX YT —DODFE CTCOEH

BmELE(S EEE

GXET

JOJ354L5) FES

JOU35L6) ZET

7351
7351

ZE5

55 L) =) (5T

J351s)




JOJSL5)FET7O7S A

import socket

host =’127.0.0.71
port = 4000
message = XK’

client = socket.socket()
client.connect( ( host, port) )

client.send( message.encode( 'utf-8’ ) )

client.close() ‘ £817T ‘
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import socket
host =’127.0.0.7
port = 80

server = socket.socket()
server.bind( ( host, port ) )
print("X&I\1")

server.listen()

client, address = server.accept()
message = client.recv( 4096 )
print( address[0], message.decode( 'utf-8’ ) )

client.close()

server.close() ‘ é'] 2 ‘
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